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Give me a little more from the inferior — X192 551 NS712% 5% AN

Overview

In some texts it was written that if the mYn» asked for Xn719 5V N2 or for
8715 9332 n>7°y, the M5 need not honor his request’. MooN explains why this
XD 1s incorrect.
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Our text do not read; ‘or a little less n>7°Y’; that the m%» may also be asking
(instead of Xn7d *d5v nN>2°1) that he receive a smaller amount of N>7°Y at the present
valuation, but rather we are only XN 50 127 073 —

Mmoo explains why we cannot be 0713 that XN 9% 1>y °5% 2n:
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For if it were so, that we are also 071 that Xn19 9°¥2 n>7°v % 27, then what
is the X711 asking, ‘if this is so (that we are not going to honor the request of
the mvn for [XN71D DY N>2°T or] RNMD X2 N°7°Y), then you have locked the
door in the face of the borrowers’, this challenge cannot apply to X119 7°%2 N>y
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For the m>» has no right at all to collect n>7°y; for the established rule is

that he has a right (only) for ns111°3. The fact that we will disallow the %2 to
collect XnwiT X912 7w, will not deter the mM» from lending, since he (knows that he)
cannot collect his loan from > n*7v.

Summary
We are not 073 that X019 %2 n°7°v °% 27, for there is no N?7 N?°v1 by N7y,

Thinking it over

Why can we not apply the same logic (of 1"11% *192 n%7 n2°v1) that the X3
uses for N9 *dv N2, to apply by X071 %2 n>71y; the Mo will say ‘if 1
would have the money I would be able to buy the n°7°y at the current price’?*

" The m>» may want to receive a smaller parcel of N7y (equal to his loan) according to the present reduced
valuation.

% This was the X" of the X3, before it was refuted on account of TN 192 N57 Nw1.

? It appears from this n90n that if the M2 would request X9 %2 n°7y, the MY can pay him Xpra N7y
1np27. See following n2n37 7"7 Moo,

* See 2 Mx 7"0.
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